DAY 2 -- Homework

1. In the figures below, which field is stronger, A or B?
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6.

For each of the three fields shown,

surfaces.
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sketch the equipotential

7. An electric field has magnitude 10,000 N/C and direction of 45°

8. In the above problem, protons can travel freely

9.

10.

measured from the positive x axis.
centered on the origin and sits in the field
Find AU,g,

figure below)

through the ring.

How fast must a proton be launched from A
in order to reach B?

(clockwise)

In the ring problem,
(clockwise)

A ring of diameter 20 cm is

(see
B
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how fast must a proton be launched
from D in order to reach C?

What if it is launched

at this speed from D in the counter-clockwise direction?

An electric field of strength 100 N/C is directed downward

1,

(-y or
can slide along a wire
of a parabola (y =
find its speed when it
Obtain an equation for

“—9"” direction).

x%) .

A mass of 0.1 kg and charge of -0.1 C
that starts at the origin and has a shape
If the mass is released at the origin,
is at x = 1 meters and x = 2 meters.
the speed of the mass at any x value.



